R0015246 Fit Hepco Drive Beam Cylinder

Instructions to mount and set hepco drive beam cylinder assembly

@ Difficulty Medium ® Duration 3hour(s)

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Add dowels

Step 3 - Assemble drive adapter

Step 4 - Attach Air fittings to cylinder
Step 5 - Fit mounting brackets

Step 6 - Attach mounting angles

Step 7 - Fit cylinder assembly to frame
Step 8 - Check hepco position

Step 9 - Position cylinder stroke

Step 10 - Attach cylinder to beam,
Step 11 - Attach second cylinder mounting bracket
Step 12 - Check Movement

Step 13 - Finalise fasteners

Step 14 - Add hard stops and dampers
Step 15 - Set cylinder stroke hard stops
Step 16 - Set damper position

Step 17 - Quality check

Step 18 - Attach sensors and brackets
Step 19 - Fit cover

Comments

Introduction

Tools Required

Standard hex key set
Ball pein hammer
Standard spanner set

Parts Required
D0015074 Cylinder Support x 2

D0015075 Cylinder Bracket x 4
D0015077B Cylinder Drive Adapter x 1
D0015144 Datum Switch Bracket x 2
D0015948 ZX5 Beam Move Cylinder Guard x 1
EO0000336 Sensor: M8; 2mm, PNP N/O, M8 conn x 2
PO000109 RB Series Shock Absorber x 2
Page 1/13



P0001118 cylinder 50 x 700 rodless x 1
P0001145 Fitting smc flow controller elbow 10-1/4 bsp
FO000315 D nut M8 x 4

Step 1 - Unless otherwise stated

All bolts to have Loctite 243 adhesive applied unless otherwise
stated

All Threaded Pneumatic connections to have Loctite 570 applied
All bolts to be pen marked once adhesive applied and correct
tension added

Step 2 - Add dowels

Add 4 off 8mm x 24mm dowels to parts DO015708 as shown

Step 3 - Assemble drive adapter

Assemble D0O015077b with contains DO015707 x 1 and D0O015708 x 2 using M8 x 30 socket caps 4 off

Page 2/13


https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_094540.png

- REMOVE ALL BURRS AND SHARP EDGES - -DO NOT SCALE - -IF IN DOUBT, ASK -

ITEM | PART No DESCRIPTION aty
1 | Doots707 Cylinder Drive Adaptor Backplate 1
2 | Doots708 Cylinder Drive Adapter Wing 2

T =

as = ]
-
st“g a s soce Cylinder Drive Adapter
Brvmslogerd o] .
b b e
e MH 13012020 10f1

See Part Notes

MACHINERY LTD

#D0015077B 1

1.85kg

Page 3/13


https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_094109.png
https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_094309.png
https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_094321.png
https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_094413.png

Step 4 - Attach Air fittings to cylinder

Fit 2 off PO001145 air fittings to cylinder PO0O01118

Step 5 - Fit mounting brackets

1 Mount D0015074 2 off brackets using 8 off M8 x 50 socket caps and M8 a form washers, orientating cylinder as shown

2 Mount D0015077 to cylinder using 4 off M8 x 30 socket caps

Page 4/13


https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_094740.png
https://stuga.dokit.app/images/thumb/d/d8/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_094727.png/ia-ab3a1c2d558816c330220a3a672bb0ed-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_094727.png.png
https://stuga.dokit.app/images/thumb/d/da/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_112533.png/ia-5a223810b9072b852e39e8d568f45a1b-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_112533.png.png
https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_114233.png

Step 6 - Attach mounting angles

Attach 4 off DO015075 to frame using M8 x 25 bolts and Heavy M8 washers as shown

Do not apply adhesive

Page 5/13


https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_113811.png
https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_113820.png
https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_113909.png
https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_114132.png

Page 6 /13


https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_114138.png

Step 7 - Fit cylinder assembly to frame

Lightly attach cylinder assembly to frame, orientated as shown. Use 16 off M8 x 25 socket caps with heavy M8 washers

Do not apply adhesive

Step 8 - Check hepco position

Ensure hepco rail is still at correct datum position of 895mm

Page 7/13


https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_114416.png
https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_114327.png
https://stuga.dokit.app/wiki/Fichier:R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_114757.png

Step 9 - Position cylinder stroke

Check that cylinder is positioned as shown

Step 10 - Attach cylinder to beam,

1 Attach cylinder to beam using M8 x 25 socket caps and 4 off FO0O00315 M8 D- nuts

2 Tension bolts to hold indicated bracket in a vertical position

3 Apply holding tension to these fasteners 1 and 2

Step 11 - Attach second cylinder
mounting bracket

1 Move hepco beam to extended position as shown

2 Apply holding tension to same bolts as other mounting bracket

Page 8/13


https://stuga.dokit.app/images/thumb/3/3e/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_115116.png/ia-fe790766cbb8555b8b4db9ee4cd73bbf-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_115116.png.png
https://stuga.dokit.app/images/thumb/8/84/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_115313.png/ia-77e3e6fd14d0647da8691a254353b2b8-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_115313.png.png
https://stuga.dokit.app/images/thumb/a/a5/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_121708.png/ia-e5b687f846db7e49af0a6b6d7fd4b559-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_121708.png.png
https://stuga.dokit.app/images/thumb/4/40/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_122124.png/ia-88825090472e26a2a43a47dca0ceab73-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_122124.png.png

Step 12 - Check Movement

Quality check movement of beam from position 1 to 2

Movement must be free and consistent over the entire stroke of the cylinder

1 If not alignment must be rechecked by adjusting mounting brackets to obtain smooth running

2 Once Movement is free running , secondary check alignment by removing tension of fasteners holding cylinder mount block to hepco beam
3 Check that slight movement is possible between the hepco rail and the mounting block. Block should not move away from hepco rail when
un fastened or be held against under pressure. If either of these happen it indicates mis alignment between components, and step 1 should be

repeated
4 Tension m8 socket caps and apply final tension

Page 9/13


https://stuga.dokit.app/wiki/Fichier:R0000711_Rotary_Base_Assembly_quality-assurance-testing.png
https://stuga.dokit.app/images/thumb/4/40/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_122124.png/ia-280f60893506f3cbb32068853cc285b7-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_122124.png.png
https://stuga.dokit.app/images/thumb/3/3e/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_115116.png/ia-99b417c1637cf9eae6590b4524f5d613-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_115116.png.png

Step 13 - Finalise fasteners

Once alignment has been achieved, 32 off M8 socket caps will need
to be individually removed , adhesive applied and finalised .

Page 10/ 13



https://stuga.dokit.app/images/thumb/a/a5/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_121708.png/ia-d24560de0aecbacab1573559afd15cfe-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_121708.png.png
https://stuga.dokit.app/images/thumb/8/84/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_115313.png/ia-ad7c5ddd625041ea9d583a3e1d383bbd-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_115313.png.png
https://stuga.dokit.app/images/thumb/0/0c/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_114416.png/ia-a8a092a84a72773e8c02adb4bd849ae1-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_114416.png.png

Step 14 - Add hard stops and
dampers

1 off of each per side
1 Use 2 off M16 x 80 set bolts and standard M16 nuts
2 POO00109 damper x 2

Do not fully wind in either parts

Step 15 - Set cylinder stroke hard
stops

Move beam to full cylinder extension in one direction.

1 Linisher flat end of set bolt and adjust M16 set bolt to touch face
of cylinder mount when in this fully extended position

2 Move beam away from bolt and rotate an EXACT 3/4 turn
clockwise at the hex head to set stop position and lock off with m16
nut

3 Repeat for opposite end set bolt, moving cylinder stroke to the
opposite end of travel

Page 11 /13


https://stuga.dokit.app/images/thumb/e/e8/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_124819.png/ia-9102dcdce63bae187d3ca40c8b86ca60-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_124819.png.png
https://stuga.dokit.app/images/thumb/5/5c/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_125438.png/ia-0dd6258820248c82d6cc80d1b918df6f-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_125438.png.png

Step 16 - Set damper position

Set damper position by moving cylinder to full stroke, and adjusting
damper so a gap of 5mm is left at the indicated point

Lock off damper lock nut

Repeat for both sides

Step 17 - Quality check

To check correct setting of stroke length, a measurement should be taken to confirm. To do this do the following steps.

1 Move cylinder to one position against set hard stop

2 Measure between Hex bolt thread end and cylinder anchor as shown

3 Confirm measurement is between the range of 696-698mm. Any measurement outside of this tolerance requires resetting of hard stops
correctly

displayaed is out of date.
pe rabuilt in SOLIDWORKS. (more...)

Page 12 /13


https://stuga.dokit.app/images/thumb/3/3e/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_155837.png/ia-250b2b1a61aa3a41dde0b381f2f467ba-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_155837.png.png
https://stuga.dokit.app/images/thumb/c/ce/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2024-01-11_150105.png/ia-af162047b5b8faca6aa5b5e4aa618d56-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2024-01-11_150105.png.png
https://stuga.dokit.app/images/thumb/2/22/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2024-01-11_150610.png/ia-3962e81b4f0ac7c422c35db390c0c967-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2024-01-11_150610.png.png
https://stuga.dokit.app/images/thumb/d/dd/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2024-01-11_150623.png/ia-84acea4f479561376b8c0f55a2a1acc5-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2024-01-11_150623.png.png

Step 18 - Attach sensors and brackets

1 Mount sensor brackets D0015144 with Mé x 16 socket caps x 2 and heavy Mé washers
2 Fit E0O000336 sensor and Adjust bracket using slots to set sensor to edge of block when at full travel

3 Ensure sensor is set as close as possible to reading face

4 Repeat for other side

Step 19 - Fit cover

once all above steps have been followed, Guard D0015948 can be fitted

Pics and fastener sizes required

Page 13/13


https://stuga.dokit.app/images/thumb/6/67/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_160146.png/ia-a4b3dc4f2c3d0352e9f5764207380853-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_160146.png.png
https://stuga.dokit.app/images/thumb/1/17/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_160211.png/ia-02a2543bb633dc4269952bfab091ee84-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_160211.png.png
https://stuga.dokit.app/images/thumb/8/8c/R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_160644.png/ia-c80f44dc920d48852bd7caec0ec6e18f-1000px-R0015246_Fit_Hepco_Drive_Beam_Cylinder_Screenshot_2023-07-12_160644.png.png

	R0015246 Fit Hepco Drive Beam Cylinder
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Add dowels
	Step 3 - Assemble drive adapter
	Step 4 - Attach Air fittings to cylinder
	Step 5 - Fit mounting brackets
	Step 6 - Attach mounting angles
	Step 7 - Fit cylinder assembly to frame
	Step 8 - Check hepco position
	Step 9 - Position cylinder stroke
	Step 10 - Attach cylinder to beam,
	Step 11 - Attach second cylinder mounting bracket
	Step 12 - Check Movement
	Step 13 - Finalise fasteners
	Step 14 - Add hard stops and dampers
	Step 15 - Set cylinder stroke hard stops
	Step 16 - Set damper position
	Step 17 - Quality check
	Step 18 - Attach sensors and brackets
	Step 19 - Fit cover


